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Homework solutions
3

Area of  cylinder = 2πr2 + 2πrh
                  

Cube Area = Base x height

Total SA = Cylinder + Cube ­ Overlap
              

radius=

height=  

Cylinder
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Area of  cylinder = 2πr2 + 2πrh
                       

Rectangular Prism (___, ___, ___) 

Total SA = Cylinder + Rect Prism ­ Overlap
               

radius= 

height= 

Cylinder
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3c

Area of  cylinder = 2πr2 + 2πrh
            

Total SA = Cylinder + Cylinder ­ Overlap
               

Area of 2nd cylinder = 2πr2 + 2πrh
                                 

long tube

puck shape

radius=       height= 

radius=       height= 

Cylinder

Cylinder
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Triangular Prism 

Cube

Total SA =  Triangular Prism  + Cube ­ Overlap
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Area of  cylinder = 2πr2 + 2πrh
            

Top:    radius = ___,  height =____

Total SA = Cylinder + Cylinder ­ Overlap
               

4

Area of  cylinder = 2πr2 + 2πrh
            

Long:    radius = ___,  height =____

Cylinder

Cylinder
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4b) 
Solutions

 Rectangle Prism (___, ___, ___) 

Cube (___, ___, ___)

Area of  cylinder = 2πr2 + 2πrh
                     

SA Prism = 

Total SA= Rectangular Prism      + Cube     + Cylinder        ­ Total Overlap
     =        19.5 m2               + 37.5 m2      + 5.8875 m2  ­ 0.785 m2

                  =  61.6025 m2

Total SA= Rectangular Prism      + Cube     + Cylinder        ­ Total Overlap
     =        19.5 m2               + 37.5 m2      + 5.8875 m2  ­ 0.785 m2

                 =     19.5 m2               + 37.5 m2      + 5.9 m2  ­ 0.8 m2

                  =  62.1 m2

Or if you rounded to the nearest thenth

Homework solutions

radius= ___,    height=_____

Cylinder
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2.5 m2.5 m

3 m

2.5 m2.5 m

3 m
1.5 m 1.5 m

base

Triangular prism

A= b x h
         2

x

Total SA Triangular Prism =  2 triangles + rectangle + rectangle + rectangle

Cylinder

Area of cylinder = 2πr2 + 2πrh

Total Surface =  Triangular Prism + Cylinder ­ total overlap
                      

x

radius= ___,   height=___
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2.8 m2.8 m

2.8 m
1.4 m 1.4 m

base

Triangular prism

SA Triangular Prism = 

Prism

Surface area Prism = 

Total SA = Triangular Prism + Rectangular Prism ­ overlap
              

(__, __, __) 

2.8 m2.8 m

2.8 m
1.4 m 1.4 m

base

x

x
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b) Door is 0.5m x 1m 
     2 Windows 1m x 1 m 

It has a floor
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